ASSESSMENT SCHEDULE
AS 90716 [Bio 3.4] Describe animal behaviour and plant responses

Evidence statement

	ONE
	Achievement
	Merit
	Excellence

	(a)
	Names relationship

· Commensalism            a
	
	

	(b)
	Describes young toheroa’s response

e.g. avoids competition

e.g. less chance of predation           a
	Explains  young toheroa’response

e.g. the young toheroa avoid intraspecific competition with the adults for food                  m
	

	(c)
	Describes a benefit of a circatidal rhythm OR the spat in sand dunes

e.g. The cicatidal rhythm allows the toheroa to predict when they will be covered by water       a
reduces predation by birds and reduces predation of spat      a

	Explains a benefit of a circatidal rhythm OR the spat in sand dunes

e.g. The circatidal rhythm allows the toheroa to predict when they will be covered by water so they only feed when plankton are available/have reduced chance of predation.

e.g.  reduces predation of spat as they are away from fish predators and inaccessible to birds     m
	Discusses a benefit of a circatidal rhythm AND the spat in sand dunes

e.g. The circatidal rhythm allows the toheroa to predict when they will be covered by water so they only feed when plankton are available/have reduced chance of predation.

The spat spending time in the dunes also reduces predation as they are away from fish predators and inaccessible to birds   e

	

	N0
	N1
	N2
	A3
	A4
	M5
	M6
	E7
	E8

	No response or does not relate to the question.
	Describes ONE idea at the Achievement level
	Describes TWO ideas at the Achievement level


	Describes THREE  ideas at the Achievement level
	Describes FOUR ideas at the Achievement level
	Explains ONE ideas at the Merit level
	Explains all TWO ideas at the Merit level
	Discusses ONE (underlined) of the ideas at Excellence level
	Discusses BOTH of the ideas at the Excellence level

	TWO

(a)
	. Names response

Positive chemotaxis   a
	
	

	(b) 


	Describes how wood rose may be disadvantaged

eg reduced chance of pollination/relies solely on bat to pollinate it      a
	Explains how wood rose may be disadvantaged

There is reduced chance of pollination as the bat is it’s only pollinator and as the bat eats a wide variety of foods they may not visit the wood rose                      m
	

	(c)
	Describes a benefit of roosting in large numbers
eg able to keep warm

eg less chance of predation       a
	Explains a benefit of roosting in large numbers
Huddling together minimising heat loss will enable the bats to keep warm/preserve energy                             m
	

	(d)
	Describes why the kakapo is a lek breeder or other birds are not
eg there are surplus supplies of food available for the kakapo parent and offspring

Eg other birds need to form a pair bond to defend territory/protect offspring and gather food     a
	Explains why the kakapo is a lek breeder or other birds are not
eg  there are surplus supplies of food available for the kakapo parent and offspring so only one parent is able to provide for the single offspring

Eg other birds need to form a pair bond to protect offspring from predators as one parent can stay with the young while one gathers food.       m
	Discusses why the kakapo is a lek breeder and other birds are not
eg there are surplus supplies of food available for the kakapo parent and offspring so only one parent is able to provide for the single offspring.

However, other birds need to form a pair bond to protect offspring from predators as one parent can stay with the young while one gathers food.    e

	N0
	N1
	N2
	A3
	A4
	M5
	M6
	E7
	E8

	No response or does not relate to the question.
	Describes ONE idea at the Achievement level
	Describes TWO ideas at the Achievement level
	Describes THREE ideas at the Achievement level
	Describes FOUR ideas at the Achievement level
	TWO  explanations at the Merit level
	THREE explanations at the Merit level
	1m+ 1e
	2m + 1e

	THREE(a)

	Photoperiodism

Not photoperiod.            a
	
	

	(b)
	2 advantages described e.g.

· Ensures flowering occurs when pollinators are available.

· Ensures flowering occurs at a season when conditions are suitable.

· Coordinated flowering maximises the chances of cross-pollination.
	2 advantages described and explained e.g.

· Plants compete for pollinators (unless they have coevolved a 1:1 relationship) most pollinators are seasonal

· Flowering generally occurs during the plant’s growth phase and at a time that allows fruit growth and seed dispersal to occur

· Cross-pollination has advantages wrt. variation in offspring and consequent chances for evolutionary change.
	

	(c)
	Day-length (actually night-length) is consistent (does not change from year to year) or is predictable.
	In comparison other environmental factors (temperature, rainfall) are variable from year to year. e.g. A warm spring, wet summer etc.
	

	(d)
	(Parts i and ii.)

All correct
	(Part iii.)

Both parts explained:

· Flowering occurs during shorter day lengths

· 50% of plants flower at 

11 ½ h = C.D.L. and/or 

more than 50% flower if 

D.L. < 11 ½ h.

	

	
	
	Flowering response
	C.D.L
	
	

	
	A
	S.D.P
	11 ½ h
	
	

	
	B
	S.D.P
	12 h
	
	

	
	C
	L.D.P
	12 ½ h
	
	

	
	D
	S.D.P
	13 h
	
	

	(e)
	Night length is more important than day length.

or

S.D.P’s flower when days are short and nights are long 
and/or

L.D.P’s flower when days are long and nights are short.
	Night-break lighting using white light (= mix of wavelengths incl. red) or red light effectively divides the night into 2 short nights and reverses the normal D.L. response.
	Effects of red and far red light are used to discuss the phytochrome system and its ability to determine day length (and night length).

i.e. 

· Red light converts PR (P670) to PFR. 

Far red light converts PFR (P730) to PR. 

PFR is unstable and slowly reverts to PR during the night (hence night length determines how complete this conversion is)

· Equilibrium between PR and PFR. initiates a flowering response.

	N0
	N1
	N2
	A3
	A4
	M5
	M6
	E7
	E8

	No response or does not relate to the question.
	Describes ONE idea at the Achievement level
	Describes TWO ideas at the Achievement level
	Describes THREE ideas at the Achievement level
	Describes FOUR to Five ideas at the Achievement level
	Explains Three point at merit level
	Explains four point at merit level
	Explains ONE point at excellence level 
	Explains TWO poinst at excellence level


Judgement statement

	
	Not Achieved
	Achieved
	Merit
	Excellence

	Score range
	0-8
	Minimum of 9 points
	Minimum  of 13 points
	Minimum of 17 points


